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= 2014 18 20134 12 20134 118 20134 108
i FH(E) | 7HE(HE) | £2(E) |HH(HE) | +B(E) 7HH(HE) | $B(E) |7HH(HE)
o|= 6,431 9229 | 4,145 6263 | 2826 | 4246 | 2,641 3949
=k
Hapa 5141 | 12687 | 5721 | 13942 | 4211 | 10071 5485 | 12,402
8i7te] 23 69 23 69
b=t
== 23 56
o= 742 | 1,954 645 1,715 613 1,596 478 1,274
st 12337 | 23939 | 10557 | 22035 | 7650 | 15912 | 8604 | 17,624
20114 18 ~ 20144 12¢
= 20114 20124 20134 20144
2l +H(E) | HA(HE) | FB(E) | 7HH(HE) | 2¥(E) |7HH(HE) | #¥(E) 7HH(HE)
18 5037 9215 . 8844 17,839 |° 42621 27,815 |- {2,387 123,939
2g 7,162 | 11,867 | 10,098| 21,580 7,092 14,987
3 10,121 | 15616 | 10,836 21,858 9,365 19,688
4 11,846 | 24,782 | 13,435| 29,174 6,174 12,132
5¢ 11,169 | 19,302 | 14,519 31,654 8,313| 17,675
6% 11,298 | 21,705 | 9,812| 21,984 8,538| 17,089
74 17,793 | 33,860 | 10,521| 26,528 8,954| 19,041
8¢ 9,680 | 19,786 | 9,111| 18539 7,992| 16,086
o 4,747 | 10,988 |  7,103| 13,560 7,800 16,177
109 6,394 | 13,741 8,193| 16,270 8,604 17,624
14 6,888 | 15,837 7,087 | 18,436 7,650| 15,912
128 6,504 | 13,723 | 7,684| 16,086 | 10,557| 22,085
A | 108639 | 210421 | 118,142| 253,508 | 103,660| 216,760 | 12,337 | 23,939
2yz 9,058 | 17,586 | 9.845| 21,126 8,638 17,980 | 12,337 | 23,939
MdcH] | 109.8% | 1165% | 1087% | 1205% | 877%| 851% | 119%| 111%
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